Best model for HELP J161126.973+544425.894 at z = 1.208 x%=1.95
OPTx?=2.65 IRx?=0.23 threshold (OPT IR)=17.66 [um]

=

Flux [m])y]
=

=

Relative residual flux .

102 4
E Stellar attenuated
E ----- Stellar unattenuated
1 ] —— Dust emission
10 —— AGN emission
] = Model spectrum
0 1 ® Model fluxes
10 E M oObserved fluxes
O—l 4
1. ‘n-rf""‘ :
- A PR .
O 2 E d -
E .
0-3
04
071 3
1 mfe= (Obs-Mod)/Obs
0 _-__ - e Er— e e e ——— b e o
] I
-1 — e —— e — ey S
10° 10! 102 103 104 1

Observed wavelength [um]



